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𝑥 # of boys   𝑝(𝑥)   𝑥𝑝(𝑥)       (𝑥 − µ)ଶ𝑝(𝑥)

         0   0.125   0 × 0.125 = 0 (0 − 1.5)ଶ × 0.125 = 0.28125

         1   0.375   1 × 0.375 = 0.375 (1 − 1.5)ଶ × 0.375 = 0.09375

         2   0.375   2 × 0.375 = 0.75 (2 − 1.5)ଶ × 0.375 = 0.09375

         3   0.125   3 × 0.125 = 0.375 (3 − 1.5)ଶ × 0.125 = 0.28125

µ =  ∑𝑥௜𝑝௜(𝑥) = 1.5 𝜎ଶ = ∑൫(𝑥 − µ)ଶ𝑝(𝑥)൯ = 0.75
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𝑝(3𝑏) = 0.125

𝑝(2𝑏) = 0.375

𝑝(1𝑏) = 0.375

𝑝(0𝑏) = 0.125

𝜎 = √0.75
⎯⎯⎯⎯ 

= 0.866

𝑝(0𝐵) =  ଷ 𝐶଴(0.5)଴(0.5)ଷି଴

𝑝(0𝐵) = 1(1)(0.125)
𝑝(0𝐵) = 0.125  𝑏𝑖𝑛𝑜𝑚𝑖𝑎𝑙𝑝𝑑𝑓(3,0.5,0) = 0.125

2nd   DISTR    binompdf   @A

𝑏𝑖𝑛𝑜𝑚𝑖𝑎𝑙𝑐𝑑𝑓(3,0.4,1) = 0.5

2nd   DISTR   binomcdf   @B𝑝(≤ 1𝐵) = 𝑝(0𝐵) + 𝑝(1𝐵)
𝑝(≤ 1𝐵) = 0.125 + 0.375
𝑝(≤ 1𝐵) = 0.5

µ = 𝑛𝑝 = 3 × 0.5 = 1.5

𝜎ଶ = 𝑛𝑝𝑞 = 3(0.5)(0.5) = 0.75

𝜎 = ඥ𝜎ଶ 
⎯⎯⎯ 

= √0.75
⎯⎯⎯⎯ 

= 0.866
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